Chemical Kinetics
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Table 1. Rate coefficients in the Arrhenius form k= AT exp [ — E/R°T")] for the skeletal m¢  :chanism.
Units are mol, s, cm’, cal, and K.

No. Reaction A n B
1 H+0; » OH+O 352 x 10" ~0.70 1 17,069.79
2 H;+O = OH+H 5.06 x 10 2.67 6,290.63
3 H;+OH #= H;O+H 117 x 10 1.30 3,635.28
4 Hy0+0 = 20H 7.00 x 10° 23 1 14,548.28
s H+0,+ M) 52 HO, + M) kb S75x 10" —140 0.00
k., 465 x 107 0.44 0.00
6 H+OH+M? &= H,0+M% 4.00 x 107 ~2.00 0.00
7 HO; +H = 20H 708 x 10" 0.00 29493
8 HO; +H - H;+0; 1.66 x 10" 0.00 82290
9 HO; +H == H;0+0 3.10 x 10" 0.00 1720.84
10 HO,;+0 - OH+0, 2.00 x 10" 0.00 0.00
1 HO, +OH = H,0+0, 7.00 x 10" 0.00 - -1,094.65
450 x 10" 0.00 10,929.73
12 Hy0; +M™ — 20H+M® ky 760 x 10° —4.20 £ 31,071.86
ke 263 x 10" -1.27 £ 51,071.86
13 2HO; —» H,0,+0; 1.030 x 10* 0.00 11042.07
1.940 x 10" 0.00 - -1408.94
14 CO+O0H = CO;+H 4.40 x 10° 1.50 —740.92
15 HCO+M"“ — CO+H+M¥ 1.86 x 107 ~1.00 1 17,000.48
16 HCO+H - CO+Hy 5.00 x 10” 0.00 0.00
17 HCO+OH — CO+H,0 3.00 x 10" 0.00 0.00
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